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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Answer any 5 questions.

3. - All questions are divided into Sections A and B.
Atiempt any 5 out of 7 questions from each sections.
Section A has short answer questions and each
carries S marks whereas Section B contains long

answer questions and 10 marks.

4, Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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SECTION-A

If the demand for mbney is independent of the interest

rate, is the LM-curve vertical or horizontal?
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Explain why the IS—curve slopés down and to the
right. | A |
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3. What does aggregate supply relation show, if the
expected price level increases then what would be

the impact on the aggregate supply curve?
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- 4. Explain the concept of wage-setting relation and price-
setting relation (Diagrams are required).
worgd - Frafer deer stk v - Fafor e o sEewen it
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. Define unemployment. Discuss the two principal costs

of uhemployment} |
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Explain the concept' of .the J-curve.
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Explain the relationship between the current, capital

and financial accounts.
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Section—B
I.~ Draw the diagram of IS-LM framework. Indicate in

which direction and why the IS-curve would shift if

subsidy is given to investment.
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q AR R IS-=% forg R ¥ sk =4t feafda 2rm

The following equations describe an-economy (C, I, G

etc., as being measured in billions and 1 as a

percentage)

C = 0.8(1-t)Y
t = 0.25 |
1=1900-50i
G. = 800

L = 0.25Y-62.5i

M/P = 500

(1) What is the equation that describes the IS-curve?

(i) What is the general definition of IS-cyrve?
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(iii) What is the equation that describes the LM-

curve?
(iv) What is the gencral definition of the LM-curve?

(v) What are the equilibrium levels of income and

interest rate?
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C = 0.8(1-t)Y
'_ t = 0.25

’I = 900-50i

G = 800

L = 0.25Y-62.5i

M/P = 500
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(iii) LM-w a?rﬁv?:rw%mwﬂwmw%?
(iv) LM-=% o womar R war 27 |

(v) s (Y) % wmet = (i) @ wqeer wr w37
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i : 2 (Can the
3. (i) What is the crowd in-out effect?

ing- out effect be avoided?

crowd

’ increase in
(ii) Explain the impact of an 10

ment benefits on labour market

unemploy

equilibrium.
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4. Suppose that the markup of goods prices over marginal
cost is 5% and that the wage-setting equation is

W = P(1-u), where u is the unemployment rate.

(i) What is the real wage, determined by the price-

setting equation? -
(i) What is the natural rate of unemployment?

(1)) Suppose that the markup of the prices over costs

increases to 10%. What happens to the nature

rate of unemployment? Explain the logic behind
your answer, |
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Suppose the governfnenf is running on a budget deficit
and decides to reduce it by decreasing its spending
while leaving taxes unchanged. How will this affect
the economy in the short term and medium run? Explain

with the help of the aggregate demand and -the
'aggregate supply model." |
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short-run trade- off between inflation and

nplications for

6. Explain the
are the policy 1I

unemployment. What

short-run fillips curve?
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ds Explain the following concepts :—
(a) Nominal and Real exchange rate.

| (b) Ho.w‘exc‘:hange rates are deterfn-ined: A Supply-
.and-Demand Analysis.
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